

WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 4767	API No. 15 - 101-22021-0000
Name: Ritchie Exploration, Inc.	County: Lane
Address: P.O. Box 783188	
City/State/7ip. Wichita, KS 67278-3188	2075 feet from S/ N (circle one) Line of Section
Purchaser: NCRA	1120 feet from E / W (circle one) Line of Section
Operator Contact Person: John Niemberger	Footages Calculated from Nearest Outside Section Corner:
Operator Contact Person: John Niemberger Phone: (316) 691-9500 SEP	
Phone: (316) 691-9500 SEP Contractor: Name: Murfin Drilling Co., Inc.	Lease Name: Dowd 28C Well #: 1
License: 30606	Field Name:
Wellsite Geologist: Terry McLeod	Producing Formation: LKC & Altamont
Designate Type of Completion:	Elevation: Ground: 2869 Kelly Bushing: 2880
New Well Re-Entry Workover	Total Depth: 4612 Plug Back Total Depth: 4560
	Amount of Surface Pipe Set and Cemented at 231 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
	If yes, show depth set 2211 Feet
Dry Other (Core, WSW, Expl., Cathodic, etc)	If Alternate II completion, cement circulated from 2211
If Workover/Re-entry: Old Well Info as follows:	feet depth to_surface
Operator:	sx cmi.
Well Name:	Orilling Fluid Management Plan A + # NJ 3 4000
Original Comp. Date:Original Total Depth:	
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 14000 ppm Fluid volume 800 bbls
Plug Back Total Depth	Dewatering method used evaporation
Commingled Docket No	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	Operator Name:
Other (SWD or Enhr.?) Docket No	Lease Name: License No.:
6/1/07 6/11/07 6/11/07	Quarter Sec Twp S. R
Spud Date or Date Reached TD Completion Date or Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workov Information of side two of this form will be held confidential for a period of	th the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, were or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-3 and geologist well report shall be attached with this form. ALL CEMENTING s. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regul herein are complete and correct to the best of my knowledge.	ate the oil and gas industry have been fully complied with and the statements
Signature:	KCC Office Use ONLY
Title: Production Manager Date: 9/10/07	Letter of Confidentiality Received
1N9h C 1 1	If Denied, Yes Date:
Subscribed and sworn to before me this <u>IU</u> day of <u>POTEMBL</u>	Wireline Log Received
$20\overline{07}$.	Geologist Report Received
Notary Public: Alebra & Pull	UIC Distribution
E-H-11	RECEIVED
Date Commission Expires:	KANSAS CORPORATION COMMISSION

DEBRA K. PHILLIPS
Notary Public - State of Kansas My Appt. Expires 5-4-11

SEP 1 1 2007

Operator Name: Ritch	nie Explóration, l	Inc.	Lease	Name: D	owd 28C		. Well #:	
ec. 28 Twp. 17S	S. R. 30	☐ East	County	y: Lane				
ested, time tool open a emperature, fluid reco	and closed, flowing very, and flow rates	and base of formations p g and shut-in pressures, s if gas to surface test, inal geological well site	, whether sh along with f	hut-in pre	ssure reached	static level, hydros	static pressu	res, bottom hole
rill Stem Tests Taken (Attach Additional Si		✓ Yes □ No		□ Lo	og Formatio	on (Top), Depth ar	nd Datum	 Sample
amples Sent to Geolo	·	✓ Yes		Name	•		Тор	Datum
ores Taken	g.com con co,	☐ Yes ✓ No		SEE AT				
ectric Log Run (Submit Copy)		✓ Yes No				TTACHED		
st All E. Logs Run: Oual Induction L Compensated De	•	n Log				TTACHED SEP CO	NEWENT	2000
		CASING Report all strings set-	RECORD	Net				
Purpose of String	Size Hole	Size Casing	Wei	ght	Setting	Type of	# Sacks	Type and Percent
Surface	12-1/4	Set (In O.D.) 8-5/8	23		Depth 231	common	Used 165	Additives 3%cc, 2% gel
Production	7-7/8	4-1/2	10.5		4592	60/40 pozmix	245	2% gel, 10% sait, 3/4% CD-3
Purpose: —— Perforate —— Protect Casing —— Plug Back TD —— Plug Off Zone	Depth Top Bottom	Type of Cement	#Sacks		EEZE RECORD		ercent Additive	S
Shots Per Foot		ON RECORD - Bridge Plu Footage of Each Interval Pe				cture, Shot, Cement		ord Depth
4	359.5'- 4364.5' (Alta	mont B1), 4020-5' - 4023.	.5' (LKC-E) (6	6/22/07)	300 gallons 1	5% NE		
						P-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1		
TUBING RECORD 2-3/	Size	Set At 4531	Packer A	At	Liner Run	Yes 📝 No		
Date of First, Resumerd F 6/29/07	Production, SWD or E	nhr. Producing Me	othod [Flowing	 Pumpir	ng Gas Lift	Oth	er (Explain)
Estimated Production Per 24 Hours	0il 39.49	Bbls. Gas	Mcf	Water 60.65	т В	bls. Ga	as-Oil Ratio	Gravity 30.9
Disposition of Gas	METHOD OF C	COMPLETION			Production Inter	val		
Vented Sold (If vented, Subm	Used on Lease	Open Hole Other (Spec	- L	. D	ually Comp.	Commingled	KANSAS (RECEIVED

SEP 1 1 2007



#1 Dowd 28C

2075' FSL & 1120' FWL 95' N & 130' E of E/2 NW SW Section 28-17S-30W Lane County, Kansas API# 15-101-22021-0000

Elevation: 2869' GL: 2880' KB

			Ref.
Sample Tops			Well
Anhydrite	2248'	+632	-11
B/Anhydrite	2268'	+612	-11
Heebner	3903'	-1023	flat
Lansing	3939'	-1059	+4
Lansing "E" zone	4025'	-1145	+6
Muncie Shale	4115'	-1235	+3
Lansing "I" zone	4167'	-1287	+3
Lansing "J" zone	4195'	-1315	+2
BKC	4290'	-1410	+8
Altamont	4342'	-1462	+6
Altamont "B" zone	4365'	-1485	+9
Cherokee Shale	4484'	-1601	+5
Johnson	4525'	-1645	+6
Mississippian	4566'	-1686	+5
RTD	4612'	-1732	

KCC SEP ! 0 2007 CONFIDENTIAL

RECEIVED KANSAS CORPORATION COMMISSION

SEP 1 1 2007

CONSERVATION DIVISION WICHITA, KS

ALLIED CEMENTING CO., INC. 28590

WICHITA, KS

REMIT TO P.O. BOX 31 'RUSSELL, KANSAS 67665	SERVICE POINT:	
I	ALLED OUT ON LOCATION JOB START JOB FINISH 9:00 9:15	
Daniel Ogal	COUNTY STATE	•
LEASE WELL# LOCATION 5 cot	+C++ 14E-4'6N-ES Lane Kun	
OLD OR NEW (Circle one)		
CONTRACTOR MUFFIN Dels Co#21	OWNER Samo	
TYPE OF JOB Sur Face	CEMENT	
HOLE SIZE 12 1/4 T.D. 231 CASING SIZE 85% DEPTH 230	CEMENT AMOUNT ORDERED 165 SKs Com	
TUBING SIZE DEPTH	3% cc - 2% Ce	
DRILL PIPE DEPTH		
TOOL DEPTH	501000 1/5 Sk a 1260 0.000	
PRES. MAX MINIMUM MEAS. LINE SHOE JOINT	COMMON 165-56 @ 1260 207900 POZMIX @	
CEMENT LEFT IN CSG.	GEL 3-515@ 1665 4995	
PERFS.	CHLORIDE 6-5/45@ 46.60 279.60	
DISPLACEMENT 13 1/2 BB	ASC@	
EQUIPMENT	@@ @	
# 422 HELPER Like	@	
BULK TRUCK		
# 370 DRIVER Dacin	@ @	
BULK TRUCK	@ /2	
# DRIVER	HANDLING 174-SKS @ 190 330	
	MILEAGE 74 pt SK/mile 8/646	
REMARKS:	TOTAL 3, 6/6/1	KCC
	CEDVICE	SEP 1 0 2007
	SERVICE	SEP 1 13 6001
·		
	DEPTH OF JOB	
	PUMP TRUCK CHARGE 8/500	COMFIDENTIA
	PUMP TRUCK CHARGE 8/5-00 EXTRA FOOTAGE @	
	PUMP TRUCK CHARGE 8/500 EXTRA FOOTAGE @ MILEAGE 56 miles @ 600 33600	
Thank You	PUMP TRUCK CHARGE 8/5-00 EXTRA FOOTAGE @	
Thank You	PUMP TRUCK CHARGE 8/500 EXTRA FOOTAGE @ MILEAGE 56 miles @ 600 33600 MANIFOLD @	
CHARGE TO: Ritchie Employetions	PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 56 miles @ 600 33600 MANIFOLD @ @ @ @	
CHARGE TO: Ritchie Employations	PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 56 miles @ 600 33600 MANIFOLD @ @	
STREET	PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 56 miles @ 600 33600 MANIFOLD @ @ @ @	
•	PLUG & FLOAT EQUIPMENT S	
STREET	PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 56 miles @ 60 33600 MANIFOLD @ TOTAL 45100 PLUG & FLOAT EQUIPMENT 8-5/8	
STREET	PUMP TRUCK CHARGE 8/500 EXTRA FOOTAGE @ MILEAGE 56 miles @ 600 33600 MANIFOLD @ TOTAL 1/15/00 PLUG & FLOAT EQUIPMENT 8-5/8- 1-Sucfece Dlug @ 60000	
STREET STATE ZIP	PUMP TRUCK CHARGE 8/500 EXTRA FOOTAGE @ 33600 MILEAGE 56 miles @ 600 33600 MANIFOLD @ @ 33600 TOTAL 415100 PLUG & FLOAT EQUIPMENT 85/8 1-Sucface Plug @ 6000	
STREET STATE ZIP To Allied Cementing Co., Inc.	PUMP TRUCK CHARGE 8/500 EXTRA FOOTAGE @ MILEAGE 56 miles @ 600 33600 MANIFOLD @ TOTAL 1/15/00 PLUG & FLOAT EQUIPMENT 8-5/8- 1-Sucfece Dlug @ 60000	
STREET STATE ZIP To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment	PUMP TRUCK CHARGE 8/500 EXTRA FOOTAGE @ MILEAGE 56 miles @ 600 33600 MANIFOLD @ @ TOTAL 4/5/00 PLUG & FLOAT EQUIPMENT 85/8 1-Sucface Plug @ 60000 @ @ 600000	
STREET STATE ZIP To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or	PUMP TRUCK CHARGE 8/500 EXTRA FOOTAGE @ MILEAGE 56 miles @ 600 33600 MANIFOLD @ PLUG & FLOAT EQUIPMENT S S/8 I-Sucface Plug @ 60000 @ @ @ @ @ @ @ @ @ @ @ @	
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was	PUMP TRUCK CHARGE 8/500 EXTRA FOOTAGE @ MILEAGE 56 miles @ 600 33600 MANIFOLD @ TOTAL 1/15/00 PLUG & FLOAT EQUIPMENT 85/8 1-Sucface Plug @ 60000 @ @ @ ### #########################	
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND	PUMP TRUCK CHARGE 8/500 EXTRA FOOTAGE @ 33600 MILEAGE 56 miles @ 600 33600 MANIFOLD @	
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	PUMP TRUCK CHARGE	
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND	PUMP TRUCK CHARGE 8/500 EXTRA FOOTAGE	COMPIDENTIA
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND	PUMP TRUCK CHARGE 8/500 EXTRA FOOTAGE	COMPIDENTIA
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.	PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 56 miles @ 60 33600 MANIFOLD @ PLUG & FLOAT EQUIPMENT S S Y	COMPIDENTIA
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.	PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 56- MILES @ 600 33600 MANIFOLD @ TOTAL 45100 PLUG & FLOAT EQUIPMENT 8-5/8 1- Sucface Plug @ 6000 @ TOTAL 6000 TOTAL 6000 TOTAL 6000 TOTAL 60000 TOTAL 60000 TOTAL 60000 TOTAL 600000 TOTAL 6000000000000000000000000000000000000	RECEIVED CANSAS CORPORATION COMMISSION
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND	PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 56 miles @ 60 33600 MANIFOLD @ PLUG & FLOAT EQUIPMENT S S Y	COMPIDENTIA

ALLIED CEMENTING CO., INC. 25946

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	/ 1	VICE POINT:	
\	Belk Truck	<u>oaktey</u>	
DATE 6-19-07 SEC 28 TWP. 77 RANGE 30W CA	ALLED OUT ON LOCATION	JOB START JOB FINISH	
and scorre	2177	COUNTY STATE	
OLD OR NEW Circle one)	TO A EIRIO		
CONTRACTOR Plains well service	OWNER same	_	
TYPE OF JOB Port collet			
HOLE SIZE T.D.	CEMENT AMOUNT ORDERED 450	to 60/2 10/21	
CASING SIZE 4/2 DEPTH	AMOUNT ORDERED 430	33 /40 Cdb GEC	
TUBING SIZE 23/1 DEPTH 22/1	45ed 325 SKS	· · · · · · · · · · · · · · · · · · ·	
DRILL PIPE DEPTH TOOL POST COVIGT DEPTH 22/1	45.60 055 GED		
PRES. MAX MINIMUM	COMMON 225 sts	@ 12.60 2835.00	
MEAS. LINE SHOE JOINT	POZMIX 150 Sts	@ 6.40 960,00	
CEMENT LEFT IN CSG.	GEL 195\$5	@ 16.65 316,35	-
PERFS.	CHLORIDE		
DISPLACEMENT	ASC	@	
EQUIPMENT		@	
		_@	
PUMP TRUCK CEMENTER And Tew	Flo-scal 94#	_@ <u>2.00 88.00</u>	
#423-281 HELPER Alan			
BULK TRUCK		_@	
#394 DRIVER ALVIN		@ @	
BULK TRUCK			
# DRIVER	HANDLING 477 sks	@ 1.90 90c, 30	
	MILEAGE 9 - sk/mile	2404.08	
REMARKS:		TOTAL 2609.23	2 1 1 Strage
	•	TOTAL -GS7	SEP 1 10 2001 CONFIDENT
Sks 6/40 L/2004 open tool Mik 325 Sks 6/40 L/2006 V4 # Flo-sal displace	SERV.	ICE	SCHENDEN
Presure Tool TO 1200# Run 5 Joint		ICE	COLUM
Reverse clean. cement did circula	-e-		
Neverse co-arra corresponding	PUMP TRUCK CHARGE	955.00	
	EXTRA FOOTAGE	@	
Thank you	MILEAGE Sto miles	@ 6.00 336.00	
7/4 0	MANIFOLD		
- 1		@	
CHARGE TO: RITCHIE			
		TOTAL 1291,00	
STREET			
CITYSTATEZIP	PLUG & FLOA	AT EQUIPMENT	
		@	
To Allied Cementing Co., Inc.		@ @	
You are hereby requested to rent cementing equipment		_	
and furnish cementer and helper to assist owner or	· · · · · · · · · · · · · · · · · · ·		
contractor to do work as is listed. The above work was		TOTAL	
done to satisfaction and supervision of owner agent or		IOIAL	
contractor. I have read & understand the "TERMS AND	TAX		
CONDITIONS" listed on the reverse side.			RECEIVED
	TOTAL CHARGE		KAMSAS CORPORATION COMMISSION
	DISCOUNT	IF PAID IN 30 DAYS	
\wedge \wedge			SEP 1 1 2007
SIGNATURE Gay Rowe	•		CONCESSION STATE
SIGNATURE (W)	PRIN	CONSERVATION DIVISION WICHITA, KS	

ALLIED CEMENTING CO., INC. 30179

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665		SERV	ICE POINT:	c. \/ ~	
DATE 1-07 SEC 28 TWB RANGE 30 CA	ALLENGUT	ON LOCATION	JOB STARR	JOB/FINISH	
	n com		COUNTY	STATE	
OLD ORNEW (Circle one)	ZW HIN	<i>E</i> 5	1214	STATE 5	
CONTRACTOR MURSIN Que #21,	OWNER		J		
TYPE OF JOB Leng STring Ha	CEMENT				
HOLE SIZE 75 T.D. 4619 47 CASING SIZE 45 DEPTH 4593 47	CEMENT AMOUNT ORD	ERED 260	60 Pos	107 salt	
TUBING SIZE DEPTH	27 rul	3 OD 3	1 81.71.	io b suiv	
DRILL PIPE DEPTH		500	gal WF	R II	
TOOL Part Collor DEPTH 22 15 H	CON EL CON		,	1015 15	
PRES. MAX / 006 MINIMUM 500 MEAS. LINE SHOE JOINT 20 H	COMMON POZMIX	104 Ad	_@ <u>_12,60</u> 	1.965.60	
CEMENT LEFT IN CSG. 20 K	GEL	5 Ay	@ 16.65	812S	- 4
PERFS.	CHLORIDE				
DISPLACEMENT 73 bbl	ASC	1/0#	_@ 	1010	
EQUIPMENT	ACD-31 SAU+	168#	_@_ 7.SO _ _@_/9.20	_1260,00 307-20	
PUMPTRUCK CEMENTER MIKE MY	De FOAM	42.E	_	301.40	
PUMP TRUCK CEMENTER Mika M, # 224 HELPER Jim W,					
BULK TRUCK			_@		
# 394 DRIVER Weft	· · · · · · · · · · · · · · · · · · ·		_@ _@		~ 70
BULK TRUCK			_@		72CU
# DRIVER	HANDLING	28314		S41.3D	000 m
PENA PAG	MILEAGE	285 AU	-	1436,40	SEP IN TO THE
REMARKS:	1		TOTAL	<i>1661</i> 98	SOMEIDEN
mir Mud Flush + Phus Pat Alle	,	SERVI	CE		SEP 1 11 2007 CONFIDENTIAL
mix Coment + work BAP + The		SERVI			
Displace They Down with wat.	DEPTH OF JOB		4		
P) O (***	PUMP TRUCK			1750.00	
Thung Your 1000	EXTRA FOOTA MILEAGE	GE	_@	32/ 0	
- 1/001 d. d. 1400	MANIFOLD >	<u> </u>	_@ <i>_&_</i> @	33600	
	WEAD KE	Uta_	@ 100,00	100.00	
Purl.			_@		
CHARGE TO: Kitchie EXP Inc					
STREET			TOTAL	2186.00	
CITYSTATEZIP	p	LUG & FLOAT	ΓΕΛΙΠΡΜΕΝ	ıT	
1.4	1644 Ru	bber Phra	-	5S <i>o</i> o_	
Thank	1-1/2 210	de store			
704	1- 43 A	W. Insert	@ 225æ	225.00	
To Allied Cementing Co., Inc.	8-113 C	ntrigher	_@_ <u>45.cc</u>		
You are hereby requested to rent cementing equipment	1 = 115 1	TP. Ilac	_@_ !SO. co	<u>430,00</u> 1600,00	
and furnish cementer and helper to assist owner or	1-12-1	011 6114	_	1000,00	
contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or			TOTAL	2840,00	
contractor. I have read & understand the "TERMS AND					
CONDITIONS" listed on the reverse side.	TAX		-		
	TOTAL CHARC	GE			RECEIVED
	DISCOUNT		IF PAI	D IN 30 DAYS	KANSAS CORPORATION COMMISSIO
- Va AAA	_				©ED 1 1 2225
SIGNATURE MONTH AND	THOMAS	A ATKI	NS	<u>#*.</u> \$	SEP 1 1 2007
,		PRINTI	ED NAME	1.9	CONSERVATION DIVISION
		STAI			WICHITA, KS